| Department Information | | Number | of St | udents: | | | Resp | onse Key | : | |
|--|----------|-----------|------------|----------------------|-------------|----------|--|----------|----------------------------------|-----------------------------|
| S_Lev: 100 & 200 Level Course: Dept: ACCOUNTING | | ts Scar | ned: ' | This Lev | el | 325 | SA= A= N= | | Agree . Agree . | (4) |
| | | | 3 | Your Dep Your Col | t | 498 | D= | Di | sagree . Disagre | (2) |
| Frequencies (top row) and percent: S.D. is the Standard Deviation and | | | | | | | each question. | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| This instructor provided well-defined course objectives. | 4 1.2 | 9 2.8 | 29 8.9 | 126 38.8 | 154 47.4 | 3 0.9 | Class Department College University | 4.310 | 0.841 0.793 0.936 0.900 | 322 493 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 3 | 15 4.6 | 41 12.6 | 125 38.5 | 138 42.5 | 3 0.9 | Class Department College University | 4.220 | 0.892 0.903 1.017 1.018 | 322 493 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 4 1.2 | 12 3.7 | 21 6.5 | 115 35.4 | 170 52.3 | 3 0.9 | Class Department College University | 4.349 | 0.856 0.849 0.938 0.890 | 322 494 2275 22314 |
| 4. I met or exceeded the course objectives given for this course. | 3 | 18 5.5 | 61 18.8 | 129 39.7 | 111 34.2 | 3 | Class Department College University | 4.218 | 0.919 0.849 0.839 0.860 | 322 493 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 2 0.6 | 8 2.5 | 56 17.2 | 132 40.6 | 124 38.2 | 3 0.9 | Class Department College University | 4.207 | 0.834 0.868 0.944 0.924 | 322 494 2275 22297 |
| 6. The instructor provided feedback to me in a timely manner. | 4 1.2 | 13 4.0 | 62 19.1 | 110 33.8 | 133 40.9 | 3 0.9 | Class Department College University | 4.139 | 0.933 0.938 1.072 1.018 | 322 494 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 8 2.5 | 20 6.2 | 57 17.5 | 114 35.1 | 122 37.5 | 4 1.2 | Class Department College University | 4.102 | 1.017 1.022 1.082 1.043 | 321 493 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 3 | 4 | 36 11.1 | 136 41.8 | 142 43.7 | 4 | Class Department College University | 4.297 | 0.783 0.795 0.914 0.874 | 321 492 2273 22303 |
| 9. The physical environment was conducive to learning. | 7 2.2 | 16 4.9 | 46 14.2 | 116 35.7 | 136 41.8 | 4 1.2 | Class Department College University | 4.157 | 0.976 0.945 1.055 1.017 | 321 493 2270 22284 |

| | Department Information | | Number | of Stud | dents: | | | Resp | onse Key | ·: | |
|----|--|----------|----------|------------|-------------------------------|------------|--------------------|--|----------|---|-----------------------------|
| | S_Lev: 300 & 400 Level Courses Dept: ACCOUNTING | | ts Scar | Y | nis Lev our Dep our Col | | 137 498 2287 | N= N= A= | N Di | Agree . Agree . Jeutral . Sagree . Disagree | (4) (3) (2) |
| | Frequencies (top row) and percents S.D. is the Standard Deviation and | | | | | | | each question. | | | |
| | Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| | This instructor provided well-defined course objectives. | 0.0 | 0.7 | 9 6.6 | 52 38.0 | 74 54.0 | 1 | Class Department College University | 4.310 | 0.654 0.793 0.936 0.900 | 136 493 2276 22330 |
| 2. | This instructor provided content and materials that were clear and well organized. | 0.0 | 8 5.8 | 20 14.6 | 53 38.7 | 55 40.1 | 0.7 | Class Department College University | 4.220 | 0.879 0.903 1.017 1.018 | 136 493 2276 22329 |
| 3. | I understood how my grades were assigned in this course. | 3 2.2 | 0.7 | 11 8.0 | 29 21.2 | 93 67.9 | 0 | Class Department College University | 4.349 | 0.850 0.849 0.938 0.890 | 137 494 2275 22314 |
| 4. | I met or exceeded the course objectives given for this course. | 0.0 | 1 | 27 19.7 | 71 51.8 | 37 27.0 | 1 | Class Department College University | 4.218 | 0.707 0.849 0.839 0.860 | 136 493 2276 22312 |
| 5. | The instructor was available to assist students outside of class. | 1 0.7 | 1 0.7 | 26 19.0 | 39 28.5 | 70 51.1 | 0 | Class Department College University | 4.207 | 0.848 0.868 0.944 0.924 | 137 494 2275 22297 |
| 6. | The instructor provided feedback to me in a timely manner. | 1 | 5 3.6 | 15 10.9 | 50 36.5 | 66 48.2 | 0 | Class Department College University | 4.139 | 0.855 0.938 1.072 1.018 | 137 494 2273 22310 |
| 7. | The instructor provided relevant feedback that helped me learn. | 2 | 5 3.6 | 23 16.8 | 40 29.2 | 67 48.9 | 0 | Class Department College University | 4.102 | 0.948 1.022 1.082 1.043 | 137 493 2274 22308 |
| 8. | The instructor set and maintained high standards that students must meet. | 2 1.5 | 1 | 11 8.0 | 49 35.8 | 73 53.3 | 1 | Class Department College University | 4.297 | 0.791 0.795 0.914 0.874 | 136 492 2273 22303 |
| 9. | The physical environment was conducive to learning. | 1 | 5 3.6 | 9 | 42 30.7 | 80 58.4 | 0 | Class Department College University | 4.157 | 0.829 0.945 1.055 1.017 | 137 493 2270 22284 |

North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 05JUL23 Using Data from Spring 2023

| Department Information | | Number | of Stu | dents: | | | Resp | onse Key | ·: | |
|--|----------|-----------|-----------|------------|-----------------|-------------------|--|-------------------------|--|----------------------------|
| S_Lev: 600, 700 & 800 Level Co Dept: ACCOUNTING | | ets Scan | Y | our Dep | el t lege | 36 498 2287 | A= N= D= | N Di | Agree . Agree . Jeutral . Sagree . Disagre | (4) (3) (2) |
| Frequencies (top row) and percent: S.D. is the Standard Deviation and | | | | | | | each question. | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| This instructor provided well-defined course objectives. | 0.0 | 2 5.6 | 2 5.6 | 19 52.8 | 12 33.3 | 1 2.8 | Class Department College University | 4.171 4.333 4.310 | 0.785 0.793 0.936 0.900 | 35 493 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 0.0 | 5 13.9 | 6 16.7 | 11 30.6 | 13 36.1 | 1 2.8 | Class Department College University | 4.220 | 1.067 0.903 1.017 1.018 | 35 493 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 0.0 | 1 2.8 | 3 8.3 | 17 47.2 | 14 38.9 | 1 2.8 | Class Department College University | 4.349 | 0.741 0.849 0.938 0.890 | 35 494 2275 22314 |
| 4. I met or exceeded the course objectives given for this course. | 0.0 | 0.0 | 4 11.1 | 18 50.0 | 13 36.1 | 1 2.8 | Class Department College University | 4.218 | 0.657 0.849 0.839 0.860 | 35 493 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 2 5.6 | 2 5.6 | 7 19.4 | 11 30.6 | 13 36.1 | 1 2.8 | Class Department College University | 4.207 | 1.157 0.868 0.944 0.924 | 35 494 2275 22297 |
| 6. The instructor provided feedback to me in a timely manner. | 1 2.8 | 5 13.9 | 8 22.2 | 9 25.0 | 12 33.3 | 1 2.8 | Class Department College University | 4.139 | 1.172 0.938 1.072 1.018 | 35 494 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 3 8.3 | 2 5.6 | 7 19.4 | 9 25.0 | 14 38.9 | 1 2.8 | Class Department College University | 4.102 | 1.272 1.022 1.082 1.043 | 35 493 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 1 2.8 | 0.0 | 5 13.9 | 14 38.9 | 15 41.7 | 1 2.8 | Class Department College University | 4.297 | 0.901 0.795 0.914 0.874 | 35 492 2273 22303 |
| 9. The physical environment was conducive to learning. | 0.0 | 3 8.3 | 5 13.9 | 11 30.6 | 16 44.4 | 1 2.8 | Class Department College University | 4.157 | 0.974 0.945 1.055 1.017 | 35 493 2270 22284 |

North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 05JUL23 Using Data from Spring 2023

| Department Information | | Number | of St | udents: | | | Resp | onse Key | 7 : | |
|--|--------|----------|-----------|----------------------------------|-----------|-------------------|--|-------------------------|--|----------------------------|
| S_Lev: 100 & 200 Level Courses Dept: BUSINESS ADMIN | # Shee | ts Scar | | This Lev Your Dep Your Col | t | 11 285 2287 | A= N= D= | N Di | / Agree . Agree . Neutral . Isagree . / Disagree | (4) (3) (2) |
| Frequencies (top row) and percents S.D. is the Standard Deviation and | | | | | | | each question. | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| This instructor provided well-defined course objectives. | 0.0 | 0.0 | 0.0 | 5 | 6 54.5 | 0 | Class Department College University | 4.545 4.370 4.310 | 0.522 0.882 0.936 0.900 | 11 284 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 0.0 | 0.0 | 0.0 | | 6 54.5 | 0 | Class Department College University | 4.220 | 0.522 0.990 1.017 1.018 | 11 284 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 0.0 | 0.0 | 0.0 | | 6 54.5 | 0 | Class Department College University | 4.349 | 0.522 0.871 0.938 0.890 | 11 283 2275 22314 |
| 4. I met or exceeded the course objectives given for this course. | 0.0 | 0 | 2 18.2 | | 3 27.3 | 0 | Class Department College University | 4.218 | 0.701 0.783 0.839 0.860 | 11 284 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 0.0 | 1 9.1 | 9.1 | | 5 45.5 | 0 | Class Department College University | 4.207 | 0.982 0.948 0.944 0.924 | 11 284 2275 22297 |
| 6. The instructor provided feedback to me in a timely manner. | 0.0 | 1 9.1 | 1 9.1 | | 6 54.5 | 0 | Class Department College University | 4.139 | 1.009 0.973 1.072 1.018 | 11 284 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 0.0 | 0.0 | 2 18.2 | | 6 54.5 | 0 | Class Department College University | 4.102 | 0.809 1.062 1.082 1.043 | 11 284 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 0.0 | 0.0 | 2 | | 5 45.5 | 0 | Class Department College University | 4.297 | 0.786 0.857 0.914 0.874 | 11 284 2273 22303 |
| 9. The physical environment was conducive to learning. | 0.0 | 1 9.1 | 18.2 | | 5 45.5 | 0 | Class Department College University | 4.157 | 1.044 1.030 1.055 1.017 | 11 283 2270 22284 |

| Department Information | | Number | of Stu | dents: | | | Resp | onse Key | : | |
|--|-----------|-----------|------------|----------------------|-------------|--------------------|--|----------|--|-----------------------------|
| S_Lev: 300 & 400 Level Course Dept: BUSINESS ADMIN | | ets Scar | Y | his Levo our Depo | | 274 285 2287 | A= N= D= | N Di | Agree . Agree . eutral . sagree . Disagree | (4) (3) (2) |
| Frequencies (top row) and percent S.D. is the Standard Deviation an | | | | | | | each question. | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| This instructor provided well-defined course objectives. | 6 2.2 | 9 3.3 | 14 5.1 | 95 34.7 | 149 54.4 | 1 | Class Department College University | 4.310 | 0.893 0.882 0.936 0.900 | 273 284 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 11 4.0 | 7 2.6 | 21 7.7 | 83 30.3 | 151 55.1 | 10.4 | Class Department College University | 4.220 | 1.003 0.990 1.017 1.018 | 273 284 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 6 2.2 | 7 2.6 | 16 5.8 | 87 31.8 | 156 56.9 | 2 0.7 | Class Department College University | 4.349 | 0.883 0.871 0.938 0.890 | 272 283 2275 22314 |
| 4. I met or exceeded the course objectives given for this course. | 4 1.5 | 3 | 20 7.3 | 113 41.2 | 133 48.5 | 1 | Class Department College University | 4.218 | 0.786 0.783 0.839 0.860 | 273 284 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 6 2.2 | 7 2.6 | 46 16.8 | 89 32.5 | 125 45.6 | 1 | Class Department College University | 4.207 | 0.949 0.948 0.944 0.924 | 273 284 2275 22297 |
| 6. The instructor provided feedback to me in a timely manner. | 9 3.3 | 6 2.2 | 35 12.8 | 94 34.3 | 129 47.1 | 10.4 | Class Department College University | 4.139 | 0.974 0.973 1.072 1.018 | 273 284 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 13 4.7 | 11 4.0 | 32 11.7 | 95 34.7 | 122 44.5 | 1 | Class Department College University | 4.102 | 1.071 1.062 1.082 1.043 | 273 284 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 7 2.6 | 4 1.5 | 15 5.5 | 103 37.6 | 144 52.6 | 1 | Class Department College University | 4.297 | 0.860 0.857 0.914 0.874 | 273 284 2273 22303 |
| 9. The physical environment was conducive to learning. | 11 4.0 | 6 2.2 | 53 19.3 | 89 32.5 | 113 41.2 | 2 0.7 | Class Department College University | 4.157 | 1.031 1.030 1.055 1.017 | 272 283 2270 22284 |

North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 05JUL23 Using Data from Spring 2023

| Department Information | | Number | of Stu | dents: | | | Resp | onse Key | : | |
|--|-----------|-----------|-----------|-----------|-----------|-----------------|--|-------------------------|--|--------------------------|
| S_Lev: 100 & 200 Level Course Dept: ENTREPRENEURSHIP | | ets Scan | Y | our Dep | | 9 52 2287 | A= N= D= | N Di | Agree . Agree . eutral . sagree . Disagree | (4) (3) (2) |
| Frequencies (top row) and percent S.D. is the Standard Deviation an | | | | | | | each question. | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| This instructor provided well-defined course objectives. | 1 11.1 | 1 11.1 | 0.0 | 2 22.2 | 5 55.6 | 0.0 | Class Department College University | 4.000 4.558 4.310 | 1.500 0.802 0.936 0.900 | 9 52 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 1 11.1 | 1 11.1 | 2 22.2 | 2 22.2 | 3 33.3 | 0 | Class Department College University | 4.220 | 1.424 0.852 1.017 1.018 | 9 52 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 1 11.1 | 1 11.1 | 1 11.1 | 1 11.1 | 5 55.6 | 0.0 | Class Department College University | 4.349 | 1.537 0.828 0.938 0.890 | 9 52 2275 22314 |
| 4. I met or exceeded the course objectives given for this course. | 1 11.1 | 0.0 | 1 11.1 | 1 11.1 | 6 66.7 | 0 | Class Department College University | 4.218 | 1.394 0.754 0.839 0.860 | 9 52 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 1 11.1 | 0.0 | 0.0 | 2 22.2 | 6 66.7 | 0 | Class Department College University | 4.207 | 1.323 0.939 0.944 0.924 | 9 52 2275 22297 |
| 6. The instructor provided feedback to me in a timely manner. | 11.1 | 0.0 | 1 11.1 | 2 22.2 | 5 55.6 | 0.0 | Class Department College University | 4.139 | 1.364 0.913 1.072 1.018 | 9 52 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 11.1 | 0.0 | 0.0 | 2 22.2 | 6 66.7 | 0.0 | Class Department College University | 4.102 | 1.323 0.777 1.082 1.043 | 9 52 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 1 11.1 | 0.0 | 2 22.2 | 44.4 | 2 22.2 | 0 | Class Department College University | 4.297 | 1.225 0.779 0.914 0.874 | 9 52 2273 22303 |
| 9. The physical environment was conducive to learning. | 2 22.2 | 0.0 | 2 22.2 | 2 22.2 | 3 33.3 | 0 | Class Department College University | 4.157 | 1.590 1.161 1.055 1.017 | 9 52 2270 22284 |

| | Department Information | | | of Stud | | | | Resp | oonse Key | 7: | |
|----|--|-------|----------|-----------|------------|-----------------|------------------|--|-------------------------|---|---------------------------|
| | S_Lev: 300 & 400 Level Course: Dept: ENTREPRENEURSHIP | 3 | | nned: Th | nis Lev | el t lege | 43 52 2287 | A= N= D= | N Di | Agree . Agree . Neutral . Isagree . Output Agree . Output Agree . | (4) (3) (2) |
| | Frequencies (top row) and percents S.D. is the Standard Deviation and | | | | | | | each question. | | | |
| | Please rate the following: | SD | D | N | А | SA | OMIT | AREA | MEAN | S.D. | #R |
| | This instructor provided well-defined course objectives. | 0 | 0.0 | 1 2.3 | 12 27.9 | 30 69.8 | 0 | Class Department College University | 4.674 4.558 4.310 | 0.522 0.802 0.936 0.900 | 43 52 2276 22330 |
| 2. | This instructor provided content and materials that were clear and well organized. | 0.0 | 0.0 | 1 2.3 | 12 27.9 | 30 69.8 | 0 | Class Department College University | 4.220 | 0.522 0.852 1.017 1.018 | 43 52 2276 22329 |
| 3. | I understood how my grades were assigned in this course. | 0.0 | 0.0 | 1 2.3 | 15 34.9 | 27 62.8 | 0 | Class Department College University | 4.349 | 0.541 0.828 0.938 0.890 | 43 52 2275 22314 |
| 4. | I met or exceeded the course objectives given for this course. | 0 | 0.0 | 1 2.3 | 16 37.2 | 26 60.5 | 0 | Class Department College University | 4.218 | 0.545 0.754 0.839 0.860 | 43 52 2276 22312 |
| 5. | The instructor was available to assist students outside of class. | 0 | 2 4.7 | 4 9.3 | 8 18.6 | 29 67.4 | 0 | Class Department College University | 4.207 | 0.856 0.939 0.944 0.924 | 43 52 2275 22297 |
| 6. | The instructor provided feedback to me in a timely manner. | 0 | 1 2.3 | 5 11.6 | 10 23.3 | 27 62.8 | 0 | Class Department College University | 4.139 | 0.797 0.913 1.072 1.018 | 43 52 2273 22310 |
| 7. | The instructor provided relevant feedback that helped me learn. | 0 | 0.0 | 3 7.0 | 11 25.6 | 29 67.4 | 0 | Class Department College University | 4.102 | 0.623 0.777 1.082 1.043 | 43 52 2274 22308 |
| 8. | The instructor set and maintained high standards that students must meet. | 0 | 0 | 1 2.3 | 10 23.3 | 32 74.4 | 0 | Class Department College University | 4.297 | 0.504 0.779 0.914 0.874 | 43 52 2273 22303 |
| 9. | The physical environment was conducive to learning. | 1 2.3 | 1 2.3 | 8 18.6 | 7 16.3 | 26 60.5 | 0 | Class Department College University | 4.157 | 1.013 1.161 1.055 1.017 | 43 52 2270 22284 |

| | Department Information | | Number | of Stud | dents: | | | Resp | onse Key | 7: | |
|----|--|----------|----------|------------|--------------------------------|-------------|--------------------|--|----------|---|-----------------------------|
| | S_Lev: 300 & 400 Level Courses Dept: FINANCE | | ets Scar | Y | nis Leve our Dep our Col | | 315 315 2287 | A= N= D= | l Di | Agree . Agree . Neutral . Sagree . Disagree | (4) (3) (2) |
| | Frequencies (top row) and percents S.D. is the Standard Deviation and | | | | | | | each question. | | | |
| | Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| 1. | This instructor provided well-defined course objectives. | 3 1.0 | 2 0.6 | 10 3.2 | 117 37.1 | 181 57.5 | 2 0.6 | Class Department College University | 4.310 | 0.685 0.685 0.936 0.900 | 313 313 2276 22330 |
| 2. | This instructor provided content and materials that were clear and well organized. | 1 | 6 1.9 | 25 7.9 | 99 31.4 | 182 57.8 | 2 | Class Department College University | 4.220 | 0.750 0.750 1.017 1.018 | 313 313 2276 22329 |
| 3. | I understood how my grades were assigned in this course. | 1 | 0.3 | 14 4.4 | 88 27.9 | 209 66.3 | 2 | Class Department College University | 4.349 | 0.622 0.622 0.938 0.890 | 313 313 2275 22314 |
| 4. | I met or exceeded the course objectives given for this course. | 0.0 | 3 | 31 9.8 | 122 38.7 | 157 49.8 | 2 | Class Department College University | 4.218 | 0.703 0.703 0.839 0.860 | 313 313 2276 22312 |
| 5. | The instructor was available to assist students outside of class. | 1 | 3 | 35 11.1 | 98 31.1 | 175 55.6 | 3 | Class Department College University | 4.207 | 0.752 0.752 0.944 0.924 | 312 312 2275 22297 |
| 6. | The instructor provided feedback to me in a timely manner. | 1 | 5 1.6 | 23 7.3 | 96 30.5 | 186 59.0 | 4 | Class Department College University | 4.139 | 0.731 0.731 1.072 1.018 | 311 311 2273 22310 |
| 7. | The instructor provided relevant feedback that helped me learn. | 4 | 6 1.9 | 31 9.8 | 95 30.2 | 177 56.2 | 2 | Class Department College University | 4.102 | 0.841 0.841 1.082 1.043 | 313 313 2274 22308 |
| 8. | The instructor set and maintained high standards that students must meet. | 4 | 5 1.6 | 12 3.8 | 99 31.4 | 192 61.0 | 3 1.0 | Class Department College University | 4.297 | 0.761 0.761 0.914 0.874 | 312 312 2273 22303 |
| 9. | The physical environment was conducive to learning. | 6 1.9 | 5 1.6 | 25 7.9 | 86 27.3 | 189 60.0 | 4 1.3 | Class Department College University | 4.157 | 0.859 0.859 1.055 1.017 | 311 311 2270 22284 |

| Department Information | | Number | of Stu | dents: | | | Resp | onse Key | ·: | |
|--|----------|----------|------------|------------|-----------------|------|--|---------------------|---|-----------------------------|
| S_Lev: 600, 700 & 800 Level C Dept: MBA | # Shee | | Y | our Dep | el t lege | | A= N= D= SD= | N Di Strongly | Agree . Agree . Weutral . Sagree . Disagree | (4) (3) (2) |
| Frequencies (top row) and percent S.D. is the Standard Deviation an | | | | | | | each question. | MEAN | S.D. | #R |
| | | | | | | | | | | |
| This instructor provided well-defined course objectives. | 0.7 | 0.7 | 7 5.1 | 48 35.3 | 79 58.1 | 0.0 | Class Department College University | 4.310 | 0.699 0.699 0.936 0.900 | 136 136 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 3 2.2 | 3 2.2 | 11 8.1 | 38 27.9 | 81 59.6 | 0.0 | Class Department College University | 4.220 | 0.898 0.898 1.017 1.018 | 136 136 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 3 2.2 | 5 3.7 | 11 8.1 | 36 26.5 | 80 58.8 | 1 | Class Department College University | 4.349 | 0.944 0.944 0.938 0.890 | 135 135 2275 22314 |
| 4. I met or exceeded the course objectives given for this course. | 1 0.7 | 1 | 16 11.8 | 45 33.1 | 73 53.7 | 0 | Class Department College University | 4.218 | 0.780 0.780 0.839 0.860 | 136 136 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 1 0.7 | 0.0 | 14 10.3 | 43 31.6 | 78 57.4 | 0 | Class Department College University | 4.207 | 0.739 0.739 0.944 0.924 | 136 136 2275 22297 |
| The instructor provided feedback to me in a timely manner. | 2 1.5 | 4 2.9 | 10 7.4 | 37 27.2 | 82 60.3 | 10.7 | Class Department College University | 4.139 | 0.869 0.869 1.072 1.018 | 135 135 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 2 1.5 | 5 3.7 | 15 11.0 | 35 25.7 | 78 57.4 | 1 | Class Department College University | 4.102 | 0.925 0.925 1.082 1.043 | 135 135 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 2 1.5 | 2 1.5 | 9 6.6 | 41 30.1 | 82 60.3 | 0 | Class Department College University | 4.297 | 0.807 0.807 0.914 0.874 | 136 136 2273 22303 |
| 9. The physical environment was conducive to learning. | 3 2.2 | 3 2.2 | 16 11.8 | 32 23.5 | 82 60.3 | 0 | Class Department College University | 4.157 | 0.934 0.934 1.055 1.017 | 136 136 2270 22284 |

| | Department Information | | Number | of Stud | dents: | | | Resp | onse Key | 7: | |
|----|--|-----------|-----------|------------|-------------|-----------------|--------------------|--|----------|---|-----------------------------|
| | S_Lev: 300 & 400 Level Courses Dept: MANAGEMENT | | ets Scar | Y | our Dep | el t lege | 319 319 2287 | A= N= D= | N Di | Agree . Agree . Jeutral . Sagree . Disagree | (4) (3) (2) |
| | Frequencies (top row) and percents S.D. is the Standard Deviation and | | | | | | | each question. | | | |
| | Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| | This instructor provided well-defined course objectives. | 6 1.9 | 6 1.9 | 16 5.0 | 103 32.3 | 187 58.6 | 1 | Class Department College University | 4.310 | 0.830 0.830 0.936 0.900 | 318 318 2276 22330 |
| 2. | This instructor provided content and materials that were clear and well organized. | 9 | 5 1.6 | 22 6.9 | 92 28.8 | 190 59.6 | 10.3 | Class Department College University | 4.220 | 0.904 0.904 1.017 1.018 | 318 318 2276 22329 |
| 3. | I understood how my grades were assigned in this course. | 5 1.6 | 7 2.2 | 18 5.6 | 97 30.4 | 191 59.9 | 1 0.3 | Class Department College University | 4.349 | 0.827 0.827 0.938 0.890 | 318 318 2275 22314 |
| 4. | I met or exceeded the course objectives given for this course. | 6 1.9 | 5 1.6 | 37 11.6 | 124 38.9 | 146 45.8 | 1 | Class Department College University | 4.218 | 0.864 0.864 0.839 0.860 | 318 318 2276 22312 |
| 5. | The instructor was available to assist students outside of class. | 12 3.8 | 4 | 40 12.5 | 108 33.9 | 154 48.3 | 1 | Class Department College University | 4.207 | 0.977 0.977 0.944 0.924 | 318 318 2275 22297 |
| 6. | The instructor provided feedback to me in a timely manner. | 14 4.4 | 10 3.1 | 43 13.5 | 87 27.3 | 164 51.4 | 1 | Class Department College University | 4.139 | 1.069 1.069 1.072 1.018 | 318 318 2273 22310 |
| 7. | The instructor provided relevant feedback that helped me learn. | 11 3.4 | 12 3.8 | 36 11.3 | 97 30.4 | 161 50.5 | 2 | Class Department College University | 4.102 | 1.021 1.021 1.082 1.043 | 317 317 2274 22308 |
| 8. | The instructor set and maintained high standards that students must meet. | 4 1.3 | 7 2.2 | 22 6.9 | 98 30.7 | 187 58.6 | 1 0.3 | Class Department College University | 4.297 | 0.818 0.818 0.914 0.874 | 318 318 2273 22303 |
| 9. | The physical environment was conducive to learning. | 9 | 8 2.5 | 39 12.2 | 80 25.1 | 181 56.7 | 2 0.6 | Class Department College University | 4.157 | 0.978 0.978 1.055 1.017 | 317 317 2270 22284 |

North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 05JUL23 Using Data from Spring 2023

| Department Information | | Number | of Stu | dents: | | | Resp | onse Key | : | |
|--|-----------|---------------|------------|------------|-----------------|--------------------|--|-------------------------|---|-----------------------------|
| S_Lev: 300 & 400 Level Course: Dept: MANAGEMENT INFORMATION | SYSTE | MS ets Sca | Y | our Dep | el t lege | 124 130 2287 | A= N= D= | N Di | Agree . Agree . eutral . sagree . Disagre | (4) (3) (2) |
| Frequencies (top row) and percent: S.D. is the Standard Deviation and | | | | | | | each question. | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| This instructor provided well-defined course objectives. | 10 8.1 | 23 18.5 | 13 10.5 | 37 29.8 | 40 32.3 | 1 0.8 | Class Department College University | 3.602 3.597 4.310 | 1.329 1.308 0.936 0.900 | 123 129 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 7 5.6 | 28 22.6 | 13 10.5 | 38 30.6 | 37 29.8 | 1 | Class Department College University | 4.220 | 1.287 1.267 1.017 1.018 | 123 129 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 8 6.5 | 9 7.3 | 13 10.5 | 51 41.1 | 42 33.9 | 1 | Class Department College University | 4.349 | 1.151 1.135 0.938 0.890 | 123 129 2275 22314 |
| 4. I met or exceeded the course objectives given for this course. | 1 0.8 | 7 5.6 | 28 22.6 | 51 41.1 | 36 29.0 | 1 | Class Department College University | 4.218 | 0.907 0.910 0.839 0.860 | 123 129 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 0.0 | 6 4.8 | 24 19.4 | 46 37.1 | 47 37.9 | 1 | Class Department College University | 4.207 | 0.878 0.868 0.944 0.924 | 123 129 2275 22297 |
| 6. The instructor provided feedback to me in a timely manner. | 3 2.4 | 15 12.1 | 26 21.0 | 39 31.5 | 40 32.3 | 1 | Class Department College University | 4.139 | 1.101 1.100 1.072 1.018 | 123 129 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 5 4.0 | 22 17.7 | 28 22.6 | 36 29.0 | 32 25.8 | 1 | Class Department College University | 4.102 | 1.175 1.172 1.082 1.043 | 123 129 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 3 2.4 | 9 7.3 | 25 20.2 | 53 42.7 | 33 26.6 | 1 | Class Department College University | 4.297 | 0.984 0.974 0.914 0.874 | 123 129 2273 22303 |
| 9. The physical environment was conducive to learning. | 8 6.5 | 12 9.7 | 27 21.8 | 42 33.9 | 33 26.6 | 2 | Class Department College University | 4.157 | 1.170 1.157 1.055 1.017 | 122 128 2270 22284 |

| Department Information | | Number | of St | udents: | | | Resp | onse Key | ·: | |
|--|---------|-----------|-----------|----------------------------------|-----------|------------------|--|----------|---|---------------------------|
| S_Lev: 600, 700 & 800 Level Co Dept: MANAGEMENT INFORMATION | SYSTE | | 7 | This Lev Your Dep Your Col | t | 6 130 2287 | A= N= D= | N Di | Agree . Agree . Jeutral . Sagree . Disagree | (4) (3) (2) |
| Frequencies (top row) and percents S.D. is the Standard Deviation and | d #R is | s the Nu | ımber (| of Valid | Respons | | each question. | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R |
| This instructor provided well-defined course objectives. | 0.0 | 0.0 | 4 66.7 | 1 16.7 | 1 16.7 | 0.0 | Class Department College University | 4.310 | 0.837 1.308 0.936 0.900 | 6 129 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 0.0 | 0 | 2 33.3 | 3 50.0 | 1 16.7 | 0.0 | Class Department College University | 4.220 | 0.753 1.267 1.017 1.018 | 6 129 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 0.0 | 0.0 | 16.7 | 3 50.0 | 2 33.3 | 0.0 | Class Department College University | 4.349 | 0.753 1.135 0.938 0.890 | 6 129 2275 22314 |
| I met or exceeded the course objectives given for this course. | 0.0 | 0.0 | 4 66.7 | 0.0 | 2 33.3 | 0.0 | Class Department College University | 4.218 | 1.033 0.910 0.839 0.860 | 6 129 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 0.0 | 0.0 | 0.0 | 3 50.0 | 3 50.0 | 0.0 | Class Department College University | 4.207 | 0.548 0.868 0.944 0.924 | 6 129 2275 22297 |
| 6. The instructor provided feedback to me in a timely manner. | 0.0 | 1 16.7 | 1 16.7 | 2 33.3 | 2 33.3 | 0.0 | Class Department College University | 4.139 | 1.169 1.100 1.072 1.018 | 6 129 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 0.0 | 1 16.7 | 1 16.7 | 2 33.3 | 2 33.3 | 0.0 | Class Department College University | 4.102 | 1.169 1.172 1.082 1.043 | 6 129 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 0.0 | 0.0 | 1 16.7 | 3 50.0 | 2 33.3 | 0.0 | Class Department College University | 4.297 | 0.753 0.974 0.914 0.874 | 6 129 2273 22303 |
| 9. The physical environment was conducive to learning. | 0.0 | 0 | 1 16.7 | 3 50.0 | 2 33.3 | 0.0 | Class Department College University | 4.157 | 0.753 1.157 1.055 1.017 | 6 128 2270 22284 |

| | Department Information | | Number | of Stud | dents: | | Response Key: SA= Strongly Agree(5) A= Agree(4) N= Neutral(3) D= Disagree(2) SD= Strongly Disagree (1) | | | | | |
|----|--|------------|-----------|------------|-------------|-------------|---|--|-------|----------------------------------|-----------------------------|--|
| | S_Lev: 300 & 400 Level Course Dept: MARKETING | # Shee | | Yo | | t lege | | | | | | |
| | Frequencies (top row) and percent. S.D. is the Standard Deviation and | d #R is | the Nu | mber o | | Respons | | | | | | |
| | Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R | |
| 1. | This instructor provided well-defined course objectives. | 22 5.9 | 21 5.6 | 24 6.4 | 107 28.6 | 199 53.2 | 0.3 | Class Department College University | 4.310 | 1.151 1.145 0.936 0.900 | 373 379 2276 22330 | |
| 2. | This instructor provided content and materials that were clear and well organized. | 30 8.0 | 22 5.9 | 22 5.9 | 112 29.9 | 187 50.0 | 10.3 | Class Department College University | 4.220 | 1.232 1.225 1.017 1.018 | 373 379 2276 22329 | |
| 3. | I understood how my grades were assigned in this course. | 19 5.1 | 19 5.1 | 30 8.0 | 107 28.6 | 198 52.9 | 1 0.3 | Class Department College University | 4.349 | 1.113 1.106 0.938 0.890 | 373 379 2275 22314 | |
| 4. | I met or exceeded the course objectives given for this course. | 7 1.9 | 3 | 41 11.0 | 155 41.4 | 167 44.7 | 1 0.3 | Class Department College University | 4.218 | 0.831 0.828 0.839 0.860 | 373 379 2276 22312 | |
| 5. | The instructor was available to assist students outside of class. | 21 5.6 | 13 3.5 | 71 19.0 | 88 23.5 | 180 48.1 | 1 0.3 | Class Department College University | 4.207 | 1.149 1.144 0.944 0.924 | 373 379 2275 22297 | |
| 6. | The instructor provided feedback to me in a timely manner. | 43 11.5 | 30 8.0 | 50 13.4 | 75 20.1 | 175 46.8 | 1 0.3 | Class Department College University | 4.139 | 1.392 1.385 1.072 1.018 | 373 379 2273 22310 | |
| 7. | The instructor provided relevant feedback that helped me learn. | 30 8.0 | 25 6.7 | 49 13.1 | 98 26.2 | 171 45.7 | 1 0.3 | Class Department College University | 4.102 | 1.258 1.252 1.082 1.043 | 373 379 2274 22308 | |
| 8. | The instructor set and maintained high standards that students must meet. | 21 5.6 | 17 4.5 | 41 11.0 | 107 28.6 | 187 50.0 | 1 0.3 | Class Department College University | 4.297 | 1.134 1.129 0.914 0.874 | 373 379 2273 22303 | |
| 9. | The physical environment was conducive to learning. | 31 8.3 | 18 4.8 | 50 13.4 | 89 23.8 | 184 49.2 | 2 | Class Department College University | 4.157 | 1.256 1.249 1.055 1.017 | 372 378 2270 22284 | |

| Department Information | | Number | of Stu | dents: | | Response Key: | | | | | | |
|--|-----|----------|-----------|-----------|-----------|---------------------|--|-------------------------|----------------------------------|---------------------------|--|--|
| S_Lev: 600, 700 & 800 Level C Dept: MARKETING | | ets Scar | Y | his Levo | | SA= Strongly Agree(| | | | | | |
| Frequencies (top row) and percent S.D. is the Standard Deviation an | | | | | | | each question. | | | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R | | |
| This instructor provided well-defined course objectives. | 0.0 | 0 | 0.0 | 2 33.3 | 4 66.7 | 0 | Class Department College University | 4.667 4.187 4.310 | 0.516 1.145 0.936 0.900 | 6 379 2276 22330 | | |
| This instructor provided content and materials that were clear and well organized. | 0.0 | 0.0 | 0.0 | 3 50.0 | 3 50.0 | 0.0 | Class Department College University | 4.220 | 0.548 1.225 1.017 1.018 | 6 379 2276 22329 | | |
| 3. I understood how my grades were assigned in this course. | 0.0 | 0 | 0.0 | 3 50.0 | 3 50.0 | 0.0 | Class Department College University | 4.349 | 0.548 1.106 0.938 0.890 | 6 379 2275 22314 | | |
| 4. I met or exceeded the course objectives given for this course. | 0 | 0.0 | 1 16.7 | 4 66.7 | 1 16.7 | 0 | Class Department College University | 4.218 | 0.632 0.828 0.839 0.860 | 6 379 2276 22312 | | |
| 5. The instructor was available to assist students outside of class. | 0.0 | 0.0 | 1 16.7 | 2 33.3 | 3 50.0 | 0.0 | Class Department College University | 4.207 | 0.816 1.144 0.944 0.924 | 6 379 2275 22297 | | |
| 6. The instructor provided feedback to me in a timely manner. | 0 | 0.0 | 2 33.3 | 2 33.3 | 2 33.3 | 0.0 | Class Department College University | 4.139 | 0.894 1.385 1.072 1.018 | 6 379 2273 22310 | | |
| 7. The instructor provided relevant feedback that helped me learn. | 0 | 0.0 | 1 16.7 | 3 50.0 | 2 33.3 | 0 | Class Department College University | 4.102 | 0.753 1.252 1.082 1.043 | 6 379 2274 22308 | | |
| 8. The instructor set and maintained high standards that students must meet. | 0.0 | 0.0 | 1 16.7 | 3 50.0 | 2 33.3 | 0 | Class Department College University | 4.297 | 0.753 1.129 0.914 0.874 | 6 379 2273 22303 | | |
| 9. The physical environment was conducive to learning. | 0.0 | 0.0 | 16.7 | 3 50.0 | 2 33.3 | 0.0 | Class Department College University | 4.157 | 0.753 1.249 1.055 1.017 | 6 378 2270 22284 | | |

| Department Information | | | of Stu | dents: | | Response Key: | | | | |
|--|-----------|---------------------|----------------------|------------------|-------------------|------------------|--|-------------------|----------------------------------|---------------------------|
| S_Lev: 300 & 400 Level Cours Dept: SCM | # Shee | ets Sca: tom row | Yo Yo) are p: | our Depour Col | | right of | Agree . Agree . Yeutral . Sagree . Disagre | (4) (3) (2) | | |
| S.D. is the Standard Deviation a Please rate the following: | SD | D | N | f Valid A | Respons SA | Ses. OMIT | AREA | MEAN | S.D. | #R |
| This instructor provided well-defined course objectives. | 4 11.4 | 3 8.6 | 1 2.9 | 17 48.6 | 10 28.6 | 0.0 | Class Department College University | 4.310 | 1.291 1.291 0.936 0.900 | 35 35 2276 22330 |
| This instructor provided content and materials that were clear and well organized. | 5 14.3 | 2 5.7 | 6 17.1 | 14 40.0 | 8 22.9 | 0 | Class Department College University | 4.220 | 1.314 1.314 1.017 1.018 | 35 35 2276 22329 |
| 3. I understood how my grades were assigned in this course. | 5 14.3 | 1 2.9 | 2 5.7 | 14 40.0 | 13 37.1 | 0.0 | Class Department College University | 4.349 | 1.361 1.361 0.938 0.890 | 35 35 2275 22314 |
| 4. I met or exceeded the course objectives given for this course. | 3 8.6 | 2 5.7 | 4 11.4 | 17 48.6 | 9 25.7 | 0.0 | Class Department College University | 4.218 | 1.165 1.165 0.839 0.860 | 35 35 2276 22312 |
| 5. The instructor was available to assist students outside of class. | 2 5.7 | 2 5.7 | 4 11.4 | 14 40.0 | 12 34.3 | 1 2.9 | Class Department College University | 4.207 | 1.127 1.127 0.944 0.924 | 34 34 2275 22297 |
| 6. The instructor provided feedback to me in a timely manner. | 4 11.4 | 2 5.7 | 2 5.7 | 11 31.4 | 15 42.9 | 1 2.9 | Class Department College University | 4.139 | 1.357 1.357 1.072 1.018 | 34 34 2273 22310 |
| 7. The instructor provided relevant feedback that helped me learn. | 4 | 4 | 3 8.6 | 11 31.4 | 13 37.1 | 0.0 | Class Department College University | 4.102 | 1.384 1.384 1.082 1.043 | 35 35 2274 22308 |
| 8. The instructor set and maintained high standards that students must meet. | 3 8.6 | 3 8.6 | 4 | 19 54.3 | 6 17.1 | 0.0 | Class Department College University | 4.297 | 1.140 1.140 0.914 0.874 | 35 35 2273 22303 |
| 9. The physical environment was conducive to learning. | 4 11.4 | 5 14.3 | 5 14.3 | 10 28.6 | 11 31.4 | 0.0 | Class Department College University | 4.157 | 1.379 1.379 1.055 1.017 | 35 35 2270 22284 |

North Dakota State University Semester Report Information Student Course Experience Survey --- Course Level Summary Report Report Generated on 05JUL23 Using Data from Spring 2023

| Department Information Number of Students: | | | | | | | Response Key: | | | | | | |
|--|----------|----------|------------|------------|-----------------|--------------------|--|-------------------------|----------------------------------|-----------------------------|--|--|--|
| S_Lev: 100 & 200 Level Course Dept: TRANSPORTATION & LOGIS | TICS | ts Scar | Y | our Dep | el t lege | 137 D= Disagree(2) | | | | | | | |
| Frequencies (top row) and percent S.D. is the Standard Deviation an | | | | | | | each question. | | | | | | |
| Please rate the following: | SD | D | N | А | SA | OMIT | AREA | MEAN | S.D. | #R | | | |
| This instructor provided well-defined course objectives. | 4 3.6 | 3 2.7 | 11 9.8 | 49 43.8 | 45 40.2 | 0 | Class Department College University | 4.143 4.226 4.310 | 0.957 0.931 0.936 0.900 | 112 137 2276 22330 | | | |
| This instructor provided content and materials that were clear and well organized. | 3 2.7 | 9 | 9 | 45 40.2 | 46 41.1 | 0 | Class Department College University | 4.220 | 1.027 1.028 1.017 1.018 | 112 137 2276 22329 | | | |
| 3. I understood how my grades were assigned in this course. | 6 5.4 | 6 5.4 | 7 6.3 | 45 40.2 | 48 42.9 | 0.0 | Class Department College University | 4.349 | 1.090 1.122 0.938 0.890 | 112 137 2275 22314 | | | |
| 4. I met or exceeded the course objectives given for this course. | 3 2.7 | 0.0 | 12 10.7 | 58 51.8 | 39 34.8 | 0 | Class Department College University | 4.218 | 0.823 0.873 0.839 0.860 | 112 137 2276 22312 | | | |
| 5. The instructor was available to assist students outside of class. | 2 | 5 4.5 | 19 17.0 | 40 35.7 | 46 41.1 | 0 | Class Department College University | 4.207 | 0.958 0.979 0.944 0.924 | 112 137 2275 22297 | | | |
| 6. The instructor provided feedback to me in a timely manner. | 8 7.1 | 3 2.7 | 16 14.3 | 45 40.2 | 40 35.7 | 0.0 | Class Department College University | 4.139 | 1.122 1.179 1.072 1.018 | 112 137 2273 22310 | | | |
| 7. The instructor provided relevant feedback that helped me learn. | 7 6.3 | 7 6.3 | 18 16.1 | 41 36.6 | 39 34.8 | 0.0 | Class Department College University | 4.102 | 1.148 1.202 1.082 1.043 | 112 137 2274 22308 | | | |
| 8. The instructor set and maintained high standards that students must meet. | 4 3.6 | 1 | 19 17.0 | 46 41.1 | 41 36.6 | 1 0.9 | Class Department College University | 4.297 | 0.951 1.011 0.914 0.874 | 111 136 2273 22303 | | | |
| 9. The physical environment was conducive to learning. | 3 2.7 | 4 3.6 | 31 27.7 | 37 33.0 | 37 33.0 | 0 | Class Department College University | 4.157 | 0.995 1.053 1.055 1.017 | 112 137 2270 22284 | | | |

| Department Information | | Number | of Stu | dents: | | Response Key: | | | | | | |
|--|-----------|-----------|-----------|---------------------|------------|--|--|-------|----------------------------------|----------------------------|--|--|
| S_Lev: 600, 700 & 800 Level (Dept: TRANSPORTATION & LOGIS | STICS | ets Sca | Y | his Levo our Dep | | SA= Strongly Agree(5) A= Agree(4) 25 N= Neutral(3) 137 D= Disagree(2) 2287 SD= Strongly Disagree (1) | | | | | | |
| Frequencies (top row) and percent S.D. is the Standard Deviation ar | nd #R is | s the N | umber o | f Valid | | | each question. | | | | | |
| Please rate the following: | SD | D | N | A | SA | OMIT | AREA | MEAN | S.D. | #R | | |
| This instructor provided well-defined course objectives. | 0.0 | 0.0 | 3 12.0 | 4 16.0 | 18 72.0 | 0 | Class Department College University | 4.310 | 0.707 0.931 0.936 0.900 | 25 137 2276 22330 | | |
| This instructor provided content and materials that were clear and well organized. | 1 4.0 | 0.0 | 3 12.0 | 4 16.0 | 17 68.0 | 0 | Class Department College University | 4.220 | 1.003 1.028 1.017 1.018 | 25 137 2276 22329 | | |
| 3. I understood how my grades were assigned in this course. | 2 8.0 | 1 4.0 | 1 4.0 | 3 | 18 72.0 | 0 | Class Department College University | 4.349 | 1.254 1.122 0.938 0.890 | 25 137 2275 22314 | | |
| 4. I met or exceeded the course objectives given for this course. | 1 4.0 | 1 4.0 | 5 20.0 | 8 32.0 | 10 40.0 | 0 | Class Department College University | 4.218 | 1.080 0.873 0.839 0.860 | 25 137 2276 22312 | | |
| 5. The instructor was available to assist students outside of class. | 0.0 | 3 12.0 | 1 4.0 | 3 12.0 | 18 72.0 | 0 | Class Department College University | 4.207 | 1.044 0.979 0.944 0.924 | 25 137 2275 22297 | | |
| 6. The instructor provided feedback to me in a timely manner. | 3 12.0 | 1 4.0 | 0.0 | 3 12.0 | 18 72.0 | 0 | Class Department College University | 4.139 | 1.400 1.179 1.072 1.018 | 25 137 2273 22310 | | |
| 7. The instructor provided relevant feedback that helped me learn. | 3 12.0 | 1 4.0 | 0.0 | 3 12.0 | 18 72.0 | 0 | Class Department College University | 4.102 | 1.400 1.202 1.082 1.043 | 25 137 2274 22308 | | |
| 8. The instructor set and maintained high standards that students must meet. | 2 8.0 | 1 4.0 | 1 4.0 | 4 16.0 | 17 68.0 | 0 | Class Department College University | 4.297 | 1.249 1.011 0.914 0.874 | 25 136 2273 22303 | | |
| 9. The physical environment was conducive to learning. | 2 8.0 | 1 4.0 | 1 4.0 | 4 16.0 | 17 68.0 | 0 | Class Department College University | 4.157 | 1.249 1.053 1.055 1.017 | 25 137 2270 22284 | | |